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SECTION -A

[Answer separately]
QUESTION -1

a) Fill in the blanks: [2.5]
(i) The splitting of spectral lines in the presence of magnetic field is

called
(i) Paschen series occurs when electron jumps from higher energy level

to energy level.
(iii) The number of radial nodes in 3d orbital is
(iv) The designation given to an orbital havingn=3 and | =1 s

(v) The orbitals of a subshell having same energy are called

b) Choose the correct alternatives : [2.5]
(i)  The four quantum numbers of the valence electron of potassium are

(a) 4, 0,0+1/2 (b)4,1,0,+1/2 (c)4,1,1, +1/2 (d) 4,0,1,+1/2
(ii)  For a d electron the orbital angular momentum is

(a) Vé6h/2m (b)V2h/2mr (c) h/2m (d)2 h/2m
(iii) The equivalent mass of KMnQ, in the reaction

MnO, + 5 Fe** + 8 H' e Mn®* +5 Fe** +4 H,0

[M= molecular mass]
(aym/2 (b) M/3 (c)M/4 (d) M/S
(iv) Mole fraction of the solute in 1 molal aqueous solution is

(a) 0.1770 (b) 0.0177 (c) 0.0344 (d) 1.7700
(v) A5 molar solution of sulphuric acid is diluted from 1 litre to 10 litres.

What is the normality of the diluted solution
(a)0.25N (b)1N (c)2N (d)7N




c) Answer the following: il - 5]
(i)  Give two differences between orbit and orbital.

(i)  State Hunds rule of maximum multiplicity.

(iii) What is the radius of the third orbit in metres |
Which d orbital does not have four lobes? What is its shape callegs

(iv)
(v)

The chloride of an element is found to contain 52.8% of
chlorine.What is the equivalent weight of the element

2]

QUESTION-2
State and explain paulis exclusion principle with example.
QUESTION -3 2]
Write the electronic configuration of
(i) Cul[ZofCuis29] (ii) Cr’*[ZofCris24]
(2]

QUESTION- 4
A salt contains the % composition Na= 29.11, S =40.51, O = 30.38. Calculate

the empirical formula of the salt [ Na =23 ,5 =32, O =16]

QUESTION - 5 [2]

Two particles A and B are in motion. If the wavelength associated with

Particle A is 5x10°m. Calculate the wavelength associated with particle B if

r

its momentum is half of A.
QUESTION- 6 [2]

How many moles of methane are required to produce 22g of carbon dioxide

after combustion
QUESTION -7 3
Which quantum number determines the

(a) Shape (b) orientation (c) size of orbital



QUESTION- 8
31

alculate the unc St
v tainity i ert::um-ty in the position of a particle of mass 1m if the
uncer y in velocity is 5.5 x 10*°m/s. Given h = 6.626 x 10K s
' = O x 10°"'Kg m“s .

state the principle behind this.
QUESTION -9
(3]

ueous soluti PR
AD a?'d lit lution Of.d'bas'c acid [ molecular mass =118] containing 35
of aci per. itre of solution has density 1.0077 g/cm®. Express the
concentration in terms of molarity, molality-and normality.

QUESTION -10
(3]

3g of hydrogen react with 29 g of oxygen to form water

(a) Which is the limiting reagent?

(b) Calculate the amount of water formed.

(c) Calculate the amount of reactant left unreacted.

QUESTION- 11 (3.

(a) What are the postulates of Bohrs theory.

(b) Which one of the following has high energy and which has low enerf
(i) n=41=2 m=0 (ii) n=4 1=0 m=0 (iii) n=21=1m=0

(iv) n=3 I=1 m=0
[I:

QUESTION -12
energy of ejected electron when yellow light o

1 falls on the surface of potassium metal.

(a) Calculate the kinetic
0%sec* State photoelectr

frequency 5.2 x10™ sec’
‘Threshold frequency of potassium is 5x 1
effect.

(b) Out of Zn®[ Z of Zn =30] and Fe™ [Z of Fe = 26] which has highest

paramagnetism and why?












